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Quiz 01 Math 1060Q September 3, 2014

Name: H 62/ Section:

You have 10 minutes to complete the quiz. Please show all work, and then circle your answer.

1. Solve for z satisfying
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2. Rewrite the following as a single interval:
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3. For each of the following equalities, assume that z and y stand for some real numbers, and
that all denominators are non-zero.

(a) Is the statement L. + = always true? Give a proof or counterexample.
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(b) Is the statement =1+ — always true? Give a proof or counterexample.
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